
PAMAPIC 
Pa�o Dining Sets

OWNER’S MANUAL

Thank you very much 
for purchasing our Patio Dining Sets.

If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official





11

Safety precautions

WARNING!

CAUTION

ATTENTION

��������������������������������������������������������������
������������������������
������������


������������	�����������������
���������������������������
�����������������������
��������������������

������������������������������������������������������������������
��������������
��

������������������������������	�������������	�����������������������������������
�������������������	����������������������������������������������

������������	���������������������������������������������������������������������������	�

���������������������������������������������	����������������������������������������
����������

�������������������
������������	���������������������������	�����������������������������
�������

��������������������������
����
������������������������ ­������� ���
�����������������
��������������
����������������������������

�����	�����������������������������������������������

�����������������������������������������������������������	������	��

�����	�����������������
��������������
����������������������
����������������������������
����������������������	���������������������������������

����������������
�������������������������	����������������������������	���������������
����
����
��������������������������������������������������������������������	�

������������������	����������������
������������������������������������������������������
������������������������������������������������

������������������������������������������������������������������
���������������������
����������������
����������������

���������������������������������������������������	��������������������������

���������������������������������
��������
������������
�����
�
�����������������������������
�����������



2

Warranty Coverage Requirements:

��������������������
���������

����������������������������	������������

�������
�������������������������������������	��������������

����������������������������	����������������������������������� ������������������������
������������������������������	�

HARDWARE

PARTS

M6*60 Stell Washer

����� �����

a5 a6

a2
M6*15

����

a1 a4

M6*20

�����

����

a8

����

M6*40

a7

a3

����

��������� ��������� 
����


��	��������������	（����	�������	（���	�
��	����

��������

��������������������

M6*30

����

PVC Bolt cover Wrench

�����

A1 A3A2

B1 B3 B4 B5B2



3

Parts

1PCSA1

M6*15  8/PC M6*30  8/PC

1/PC

16/PC16/PC

a7a1

a8

a6a2

1PCSA3

���

Instructions Patio dining table

Number

4PCSA2

���������������
���������������������������������������������������������������������������
����������������������

��������������������������������������������������������������������������������



4

Instructions

Step1

Step2

a7

a1

a6

a7 a2 a6

Patio dining table

� �­��������������������	����	�����������	 ������������������������������������	����	���������������

A1

A2

A1

A2

A3



If you have any ques�ons,
please contact customer service:
E-mail: Pamapic@hotmail.com.

Facebook: @Pamapic.Official


